This report contains the transfers results.

Contest Name

Ward 2 - Thurso and Northwest Caithness

Valid Votes
Positions to be Filled
Quota

5,244 4 1,049

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gillian COGHILL	Independent	417
Tommy FARMER	Independent	59
Alexander GLASGOW	Scottish Liberal Democrats	198
Donnie MACKAY	Independent	567
Struan MACKIE	Scottish Conservative and Unionist	901
Sandra OWSNETT	Scottish Green Party	104
Matthew REISS	Independent	1,924
Karl ROSIE	Scottish National Party (SNP)	746
Roger SAXON	Labour and Co-operative Party	328
	Total	5,244

Candidate Matthew REISS Elected with 1,924 votes, being in excess of the quota of 1,049

This report contains the transfers results.

Stage 2 - Surplus of Matthew REISS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gillian COGHILL	498	0.45478	226.48044
Transfer to Tommy FARMER	51	0.45478	23.19378
Transfer to Alexander GLASGOW	95	0.45478	43.20410
Transfer to Donnie MACKAY	244	0.45478	110.96632
Transfer to Struan MACKIE	462	0.45478	210.10836
Transfer to Sandra OWSNETT	52	0.45478	23.64856
Transfer to Matthew REISS	0	0.00000	0.00000
Transfer to Karl ROSIE	147	0.45478	66.85266
Transfer to Roger SAXON	169	0.45478	76.85782
Value of non-transferable ballot papers			93.68796
	 Total		875.00000

This report contains the transfers results.

Stage 3 - Surplus of Struan MACKIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gillian COGHILL	146	0.02542	3.71132
Transfer to Gillian COGHILL	197	0.05589	11.01033
Transfer to Tommy FARMER	46	0.05589	2.57094
Transfer to Tommy FARMER	17	0.02542	0.43214
Transfer to Alexander GLASGOW	36	0.02542	0.91512
Transfer to Alexander GLASGOW	135	0.05589	7.54515
Transfer to Donnie MACKAY	129	0.05589	7.20981
Transfer to Donnie MACKAY	55	0.02542	1.39810
Transfer to Struan MACKIE	0	0.00000	0.00000
Transfer to Sandra OWSNETT	8	0.02542	0.20336
Transfer to Sandra OWSNETT	26	0.05589	1.45314
Transfer to Matthew REISS	0	0.00000	0.00000
Transfer to Karl ROSIE	47	0.05589	2.62683
Transfer to Karl ROSIE	38	0.02542	0.96596
Transfer to Roger SAXON	49	0.02542	1.24558
Transfer to Roger SAXON	72	0.05589	4.02408
Value of non-transferable ballot papers			16.79650
	Total		62.10836

This report contains the transfers results.

Stage 4 - Exclusion of Tommy FARMER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gillian COGHILL	12	0.05589	0.67068
Transfer to Gillian COGHILL	21	0.45478	9.55038
Transfer to Gillian COGHILL	14	1.00000	14.00000
Transfer to Gillian COGHILL	5	0.02542	0.12710
Transfer to Alexander GLASGOW	4	1.00000	4.00000
Transfer to Alexander GLASGOW	6	0.45478	2.72868
Transfer to Alexander GLASGOW	3	0.05589	0.16767
Transfer to Donnie MACKAY	8	0.05589	0.44712
Transfer to Donnie MACKAY	10	0.45478	4.54780
Transfer to Donnie MACKAY	14	1.00000	14.00000
Transfer to Donnie MACKAY	1	0.02542	0.02542
Transfer to Struan MACKIE	0	0.00000	0.00000
Transfer to Sandra OWSNETT	7	1.00000	7.00000
Transfer to Sandra OWSNETT	1	0.45478	0.45478
Transfer to Sandra OWSNETT	2	0.05589	0.11178
Transfer to Matthew REISS	0	0.00000	0.00000
Transfer to Karl ROSIE	1	0.05589	0.05589
Transfer to Karl ROSIE	6	1.00000	6.00000
Transfer to Roger SAXON	1	1.00000	1.00000
Transfer to Roger SAXON	1	0.02542	0.02542
Transfer to Roger SAXON	4	0.05589	0.22356
Transfer to Roger SAXON	1	0.45478	0.45478
Value of non-transferable ballot papers			19.60580
	Total		85.19686

This report contains the transfers results.

Stage 5 - Exclusion of Sandra OWSNETT

Transfer to Gillian COGHILL Transfer to Gillian COGHILL Transfer to Gillian COGHILL Transfer to Gillian COGHILL Transfer to Tommy FARMER Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	2 8 10 15	0.02542 0.05589	0.05084
Transfer to Gillian COGHILL Transfer to Tommy FARMER Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	10		0.44740
Transfer to Gillian COGHILL Transfer to Tommy FARMER Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE		0.45470	0.44712
Transfer to Tommy FARMER Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	15	0.45478	4.54780
Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE		1.00000	15.00000
Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	0	0.00000	0.00000
Transfer to Alexander GLASGOW Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	14	1.00000	14.00000
Transfer to Alexander GLASGOW Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	11	0.45478	5.00258
Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	4	0.05589	0.22356
Transfer to Donnie MACKAY Transfer to Donnie MACKAY Transfer to Struan MACKIE	1	0.02542	0.02542
Transfer to Donnie MACKAY Transfer to Struan MACKIE	2	0.05589	0.11178
Transfer to Struan MACKIE	6	0.45478	2.72868
	9	1.00000	9.00000
T (0	0.00000	0.00000
Transfer to Matthew REISS	0	0.00000	0.00000
Transfer to Karl ROSIE	49	1.00000	49.00000
Transfer to Karl ROSIE	8	0.45478	3.63824
Transfer to Karl ROSIE	5	0.05589	0.27945
Transfer to Karl ROSIE	2	0.02542	0.05084
Transfer to Roger SAXON	1	0.02542	0.02542
Transfer to Roger SAXON	2	0.05589	0.11178
Transfer to Roger SAXON	6	0.45478	2.72868
Transfer to Roger SAXON	12	1.00000	12.00000
Value of non-transferable ballot papers	12		17.89943

Total

136.87162

This report contains the transfers results.

Stage 6 - Exclusion of Alexander GLASGOW

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gillian COGHILL	22	0.05589	1.22958
Transfer to Gillian COGHILL	25	0.45478	11.36950
Transfer to Gillian COGHILL	43	1.00000	43.00000
Transfer to Gillian COGHILL	7	0.02542	0.17794
Transfer to Tommy FARMER	0	0.00000	0.00000
Transfer to Donnie MACKAY	8	0.02542	0.20336
Transfer to Donnie MACKAY	39	1.00000	39.00000
Transfer to Donnie MACKAY	11	0.45478	5.00258
Transfer to Donnie MACKAY	20	0.05589	1.11780
Transfer to Struan MACKIE	0	0.00000	0.00000
Transfer to Sandra OWSNETT	0	0.00000	0.00000
Transfer to Matthew REISS	0	0.00000	0.00000
Transfer to Karl ROSIE	21	1.00000	21.00000
Transfer to Karl ROSIE	5	0.05589	0.27945
Transfer to Karl ROSIE	6	0.45478	2.72868
Transfer to Roger SAXON	23	0.45478	10.45994
Transfer to Roger SAXON	24	0.05589	1.34136
Transfer to Roger SAXON	49	1.00000	49.00000
Transfer to Roger SAXON	3	0.02542	0.07626
Value of non-transferable ballot papers			89.82583
	Total		275.81228

This report contains the transfers results.

Stage 7 - Exclusion of Roger SAXON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gillian COGHILL	11	0.02542	0.27962
Transfer to Gillian COGHILL	22	0.05589	1.22958
Transfer to Gillian COGHILL	53	0.45478	24.10334
Transfer to Gillian COGHILL	86	1.00000	86.00000
Transfer to Tommy FARMER	0	0.00000	0.00000
Transfer to Alexander GLASGOW	0	0.00000	0.00000
Transfer to Donnie MACKAY	96	1.00000	96.00000
Transfer to Donnie MACKAY	40	0.45478	18.19120
Transfer to Donnie MACKAY	18	0.05589	1.00602
Transfer to Donnie MACKAY	15	0.02542	0.38130
Transfer to Struan MACKIE	0	0.00000	0.00000
Transfer to Sandra OWSNETT	0	0.00000	0.00000
Transfer to Matthew REISS	0	0.00000	0.00000
Transfer to Karl ROSIE	2	0.02542	0.05084
Transfer to Karl ROSIE	4	0.05589	0.22356
Transfer to Karl ROSIE	19	0.45478	8.64082
Transfer to Karl ROSIE	49	1.00000	49.00000
Value of non-transferable ballot papers			202.46840
	Total		487.57468

10lai 407.574

This report contains the transfers results.

Stage 8 - Exclusion of Gillian COGHILL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tommy FARMER	0	0.00000	0.00000
Transfer to Alexander GLASGOW	0	0.00000	0.00000
Transfer to Donnie MACKAY	42	0.02542	1.06764
Transfer to Donnie MACKAY	83	0.05589	4.63887
Transfer to Donnie MACKAY	227	0.45478	103.23506
Transfer to Donnie MACKAY	276	1.00000	276.00000
Transfer to Struan MACKIE	0	0.00000	0.00000
Transfer to Sandra OWSNETT	0	0.00000	0.00000
Transfer to Matthew REISS	0	0.00000	0.00000
Transfer to Karl ROSIE	69	1.00000	69.00000
Transfer to Karl ROSIE	69	0.45478	31.37982
Transfer to Karl ROSIE	17	0.05589	0.95013
Transfer to Karl ROSIE	16	0.02542	0.40672
Transfer to Roger SAXON	0	0.00000	0.00000
Value of non-transferable ballot papers			383.30733
	Total		869.98557